Economics 172 




Name:____________________________

Spring 2004


Final Exam

This exam has 9 questions and 160 total points.  Answer all questions.  Please write clearly and be brief.  You need not write more than 2 or 3 sentences for any short answer.  Be sure to label all relevant points, axes, and lines of any graph you draw.
1. (19)  The table below shows the demand curve facing a monopolist who produces at a constant marginal cost of $6.




Marginal


Price
Quantity
Cost


$27
0


$24
2


$21
4


$18
6


$15
8


$12
10


$9
12


$6
14


$3
16


$0
18

(3)a.  Calculate the firms' marginal cost schedule and place it on the table above.

(6)b.  What are the firm's profit maximizing output level and price?  Show your work. 

(5)c.  How much profit, if any, does this firm earn?  Show your work.

(5)d.  If the demand curve shown above was the demand curve facing a perfectly competitive industry, all of whose firms faced a constant marginal cost of $6, what would the price and output level be?  Show your work.

2. (20)  In preparation for the upcoming Vermont City Marathon, I went shopping and bought a pair of Asics Gel 2070 running shoes for $89.  When I bought them, I knew that the shoes came with a $10 rebate.  During one of our long training runs, one of my running partners commented that it made no sense for Asics to sell shoes with a rebate.  She said that the firm should sell the shoes for the same price to everyone.

a.  (15)  Using price discrimination theory, explain verbally and graphically how I explained to her why the shoe company benefits having a rebate rather than just selling the shoes to everyone at the same price.   (I didn’t have paper and pencil during our run, but you have to use a graph as well as a verbal explanation).
b.  (5) Do consumers of Asics Gel 2070 running shoes benefit from this policy, or would they be better off if Asics just sold the shoes at one price to everyone.

3. (25)  George and Martha eat only peanut butter and jelly sandwiches and each makes sandwiches that must have only one ounce of peanut butter and one ounce of jelly.  They do not benefit by having more than one ounce of peanut butter if they only have one ounce of jelly.  The same holds for jelly.   The more sandwiches each of them eats, the better off each of them is.  Suppose each of them starts out with the following quantities of peanut butter and jelly (bread for sandwich making is freely available in unlimited quantities).


Oz. Peanut Butter
Oz. Jelly



George
10
20

Martha
20
10

a. (5)  Draw a representative indifference curve for George.

b. (3)  How many sandwiches can each individual make in the absence of trade?

c. (3)  If both individuals pool their resources, how many sandwiches can be made in total?
c. (10)  Construct an Edgeworth Box diagram which shows (i)  the total quantities of peanut butter and jelly available, (ii) the initial endowments of the two commodities for each person, and (iii) the contract curve of efficient exchange points.  

d. (4)  Briefly explain how you derived the contract curve and what it means.
4. (15)  Mr. Charlie Allnut is a monopoly producer of shipping services on the Zambezi River.    His customers form an organization that wants to buy his boat and shipping services for the mutual good of the new owners.  
a.  (5)  Use a graph to illustrate the market for shipping services, showing the relevant price and quantity Mr. Allnut charges.  
b.  (5)  On the graph, show the lowest amount Mr. Allnut will accept for his boat and the shipping services that go with it.  Also show the highest amount his customers will be willing to pay.  Briefly explain your answer. 

c.  (5)  How do you know if the sale will occur?
(2) Bonus:  What is the name of Mr. Allnut’s boat?
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5. (10) Last week, Picasso’s Boy With A Pipe sold at an auction for $104 million to an unidentified buyer.  Because the painting was sold at an auction, the buyer received no consumer surplus when he or she purchased the painting. True, False, or Uncertain and explain using a diagram if it helps you.
6. (8)  In August 1990, East Germany taxicab drivers went on strike demanding lower cab fares.  What must the drivers had believed about the price elasticity of demand for taxicab rides?  Briefly explain.

7.  (19) Daniel consumes meat and potatoes.  When the price of meat goes up, Daniel continues to consume the same number of potatoes as before.  

a. (5)   Draw a graph showing Daniel’s budget lines before and after the price of meat goes up.  
b. (5)  Show his optimum points on both budget lines.  How does your graph reflect the fact that Daniel’s potato consumption is unchanged?

c.  (6) Show the income and substitution effects of the change in meat price and briefly explain here.
d.  (3) Can you tell whether meat is a normal or inferior good for Daniel?  Explain.

8.  (21) Use the Coase theorem to answer this question.  George Pacific operates a sawmill and he can produce lumber with or without soundproofing his operation.   If he doesn’t soundproof his sawmill, he causes damage to his neighbor, Prof. Henry Higgins, who runs a business helping people improve their speech.    The relevant gains and losses for Mr. Pacific and Professor Higgins are as follows:

	 
	Without Soundproofing
	With Soundproofing

	Gains to G. Pacific
	$150/week
	$34/week

	Damage to Prof Higgins
	$125/week
	$6/week


a. (7)   If Mr. Pacific is not liable for noise damage and there are no negotiation costs, will he install soundproofing?  Explain.

b.(7) How, if any, would your answer differ if, in order to negotiate, they had to pay a mediator $4/week?  Explain.

 c. (7)  Now suppose that Higgins can avoid all the noise damage by moving to a new location which will cost him $120/week.  If negotiation costs are zero, how, if at all, will your answer in part (a) differ?  Explain.
(2) Bonus:  Who is Prof Higgins’ most famous pupil? 

9. (23) The market for mousetraps is currently in equilibrium.  The government then puts an effective price floor on mousetraps (that is, a price above equilibrium) and agrees to buy all mousetraps that are not sold at that price.  The government throws away all the mousetraps it buys but does not use.  
a. (5)  What is the price of mousetraps before and after the government implements the policy? Show on the graph and briefly explain here.  

b. (5) How many mousetraps do people (not including the government) buy?  Show on the graph and briefly explain here.  
c. (5)   How many mousetraps does the government buy?  Show on the graph and briefly explain here.  

d.  (8) Show the gains and losses to consumers and producers, the net social gain, and the deadweight loss (if any) before and after the government implements this policy.  Compare the net social gain before and after the policy change.
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